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Wﬁé‘w:
(i) T IV-9T AT A A Ay R - &, @ AR T
(i) 9 F T o & U e 7
(i) gl F 9 9 @ SR T § FE E T & FA 8 |
(iv) [ y97 & T4 97 & 3 % & @7 R @y |

General Instructions :
(1) This question paper contains three parts A, B and C.
(1) Part A is compulsory for all candidates.
(iii) Candidates can attempt only one part of the remaining parts
B and C.
(iv) All parts of the questions should be attempted at one place.

AT &
(STETVERT W1, WIERRT WAl a9 wW-El & oy sraise)
PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms
and Companies)

1. ‘o & Y0 & FER W TR a@ GfE-a § =R a6y |
Distinguish between ‘Subscriptions’ and ‘Specific Donations’ from the
point of view of ‘Nature of Income’.

2. I uF Fovel T § ydE U & 159 foq we e ufer @ e @ @, A
e F FA WY W AN F Wabe gq 70 3@y & 2
If a fixed amount is withdrawn on 15 day of every month of a

calendar year, for what period will the interest on total amount
withdrawn be calculated ?

3. & ¢ 9ERR 3N 39 T % G99 S0 & (AU SUeH IE % BR0T & I
HINT |

State the reason of contributing for goodwill by a new partner at the time
of his admission.
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4. TEEH 94 WRER W & faved ¥ R W 3R w fag i | 1

Give any one point of distinction between dissolution of partnership
and dissolution of partnership firm.

5. ‘fy-sifueH @ T3 = g g ? 1
What is meant by ‘Over-Subscription’ ?

6. ffafed g@ ¥ 31.3.2011 F 9@ gC a8 & fAC =I< & U H WA
FIfe '
a8 § ar g7 : T 2,85,000.
31.3.2011 &I 3&d == : T 9,000.
31.3.2011 & 1w wrw ==y - T 7,000.
1.4.2010 & 31€w 9= : T 12,000,
1.4.2010 &t 3 == : T 8,000 3

Calculate the amount of subscriptions for the year ended 31.3.2011
from the following information :

Subscriptions received during the year : ¥ 2,85,000.

Subscriptions outstanding as on 31.3.2011 : ¥ 9,000.

Subsecriptions received in advance as on 31.3.2011 : T 7,000.
Subscriptions outstanding as on 1.4.2010 : T 12,000.

Subscriptions received in advance as on 1.4.2010 : T 8,000.

7. N fa. 7 a8 @ 9 T 5,00,000 FF 9 # o5 R | <3 O = 50% TREE
TR, fa. 3w fow T s e w @ SR 5 o S @9 or ave 3
a0 | WY U W OPEE % 10 TAF & gEaw o, SR 25% % sfgem w i
femar mr a1, & g/ fem A |
IR A & e e, . i Tl ¥ sevas Jsn SEEE i | 3

X Ltd. purchased machinery for T 5,00,000 from Y Ltd. Half of the
amount was paid by accepting a Bill of Exchange drawn by Y Ltd.
payable after three months. The balance was paid by issue of Equity
Shares of T 10 each at a premium of 25%.

Pass necessary Journal Entries in the books of X Ltd. for these
transactions.
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8. fosm @& fA. 3 T 100 &% & 10,000, 12% F=vwwE, = T 70 ¥fq w9
Mfrew w frifag & ar, & fo smaes s fee | qof afyr &1 e aees
W HET 47
13,500 ®UTe & U aees o g€ | 3,500 FUe & fAu swEeHAl # ® F
fear o qar EET YT A9 X & T | U9 AECH F OWOGE & EeT I
fear |
foory eralt fa. & qwel ¥ ITH Ao % fAU sTavas dsmmEn wfafvat s |

Vijay Laxmi Ltd. invited applications for issuing 10,000, 12%

Debentures of ¥ 100 each at a premium of T 70 per Debenture. The

full amount was payable on application.

Applications were received for 13,500 Debentures. Applications for
3,500 Debentures were rejected and application money was refunded.
Debentures were allotted to the remaining applications.

Pass necessary Journal Entries in the books of Vijay Laxmi Ltd. for
the above transactions.

9. T A Y U T F GRER 4 W 5:3 % I H e ded 9 | 1.4.2010
T A A G e v g % 80,000 T WY T 1,00,000. S S0
W 12% WG a9 F @ ¥ T FEO W 15% W o4 F R ¥ =S AW FH
frofa fFam 1 31.3.2011 & w9 gC a¥ & AU 3w W wEENSE ¥ 9§
F oA T 14,040 A1 | T & AU YT TG T & SEWT FAIE T 6,000 77
% 10,000 & | G TR # WE A U G AT W H; Ar-gi e
qrr TAR FST | FH OF @ g9 @ gen § off do W s fem smom |

Suresh and Ramesh were partners in a firm sharing profits in the
ratio of 5 : 3. Their fixed capitals on 1.4.2010 were : Suresh T 80,000
and Ramesh ¥ 1,00,000. They agreed to allow interest on capital
@ 12% per annum and to charge on drawings @ 15% per annum. The
firm earned a profit, before all above adjustments, of ¥ 14,040 for the
year ended 31.3.2011. The drawings of Suresh and Ramesh during
the year were T 6,000 and T 10,000 respectively. Showing' your
calculations clearly, prepare Profit and Loss Appropriation Account of
Suresh and Ramesh. The interest on capital will be allowed even if
the firm incurs a loss.

67/2/1 a4



10. U9, @A AR WA GHER § S A # 3:2:1F e § fauiea &
2| T A @ w9 % 1,80,000 fE@T g R | TRH e e SRl
2, AU IWF SEH WU AW GHA @I F TEAEA T 2,52,000 | FEw m
21T g wa wfgsm oA & 2: 1% qua # fawfem A @ fofr o
T | T IEHN WK A b A% Jgd 98 @ oy T 1,20,000 g3 | @AM
F dEie 9y bl & fFaer & fau srevgs s wfefedt SifSe | et
TR # WP Y 8 IR | 4

Ram, Laxman and Bharat are partners sharing profits in the

ratio of 3 : 2 : 1. Goodwill is appearing in the books at a value of
¥ 1,80,000. Laxman retires and at the time of his retirement,
goodwill is valued at ¥ 2,52,000. Ram and Bharat decided to share
future profits in the ratio of 2 : 1. The profits for the first year after
Laxman’s retirement amount to ¥ 1,20,000. Give the necessary
Journal Entries to record goodwill and to distribute the profits. Show

your calculations clearly.

11. 3 f 3 T 1,00,000 F 12% F0T6 % weT @ fotg faw ) 39 2 60,000
F FUTE H G IWR § T 95 ¥a WO # QX W A R | T0E RO @
9 qed T 100 91 | 9 T 40,000 F RO w1 e o ¥ # fen | s
T WU WME Y H AESE A9 el § gdad @ fear gem &
T & WEE & AU A w1 el HoEvEs Jseme gfafeE i | 4

Ajanta Ltd. decided to redeem T 1,00,000, 12% Debentures. It
purchased ¥ 60,000 Debentures from the open market at ¥ 95 per
Debenture. The face value of each Debenture was T 100. The balance
of T 40,000 Debentures were redeemed out of profits. The company

has already made a provision for Debenture Redemption Reserve in

its books.
Pass necessary Journal Entries in the books of the company for the .
redemption of Debentures.

67/2/1 5 P.T.O.



12, frafafas oFedl & fou Saeiew fa. & e § sEavas Ushmen wfafear
Fifsw -
(i) T 100 7% F 9,500, 10% TG & INET 3% T 100 TAF & THAT 391

(1)

i ufEfda =& @ mar | guar vl = e 5% % a2 W fEr T

T 100 5% & 440, 10% FO9E &1 30EA T 50 T&E & A0 12% TG
¥ ofialdd =@ fear T | 9T mUE & 10% ey W i fear
|

Pass necessary Journal Entries for the following fransactions in the
books of Fairdeals Ltd :

(i)

(ii)

Redeemed 9,500, 10% Debentures of ¥ 100 each by converting the
same into Equity Shares of ¥ 100 each. The Equity Shares were
issued at a discount of 5%.

Converted 440, 10% Debentures of T 100 each into new 12%
Debentures of ¥ 50 each. The new Debentures were issued at a
premium of 10%.

13. W 99 F, UF W & WRER ¥ 741 3: 2 F IFq9a H @9 died 4 | 31.3.2011
I 3 fafg faewor =1 y&r o -

31.3.2011 &t W, 7a1 &g, & feafa faawon

Tfe Tfsr

gad 4 D 7
q;_:i"[ : = 80,000
@ : % 80,000 ERRCRCE 80,000
¥ % 70,000 1,50,000 | =& 60,000
TR 50,000 | STaR 40,000
FHer gfagfd fif 80,000 | 7 20,000
2,80,000 2,80,000

1.4.2011 F1 %9 & fauea & T 99 gwd vd g & AR EeER

g3l

(1)
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(i) & 7 =& F T 50,000 F T F7 fom |

(iii) w9 g&F FOT T 5,000 & |
(iv) w@nfd § $9 Ff o< & gan |

(v) wERt &g g@m % 80,000 o1 |

T % g & v smEvgs UsemTEr sfafeai Fifsw |
P and Q were partners in a firm sharing profits in the ratio of 3 : 2.
On 31.3.2011 their Balance Sheet was as follows :
Balance Sheet of P and Q as on 31.3.2011
Amount Amount

Liabilities 4 Assets 4
Capitals : Goodwill 80,000

P: T 80,000 Land and Building| 80,000

Q : T 70,000 1,50,000 | Stock 60,000
Creditors 50,000 | Debtors 40,000
Workmen Compensation Fund 80,000 | Bank 20,000

2,80,000 2,80,000
The firm was dissolved on 1.4.2011 and the Assets and Liabilities were
settled as follows :
@{) Creditors agreed to take over Land & Building at a valuation of
their full claim.
(ii)  Stock was taken over by Q at T 50,000 for cash.
(iii) Bad debts proved ¥ 5,000.
(iv)  Goodwill was found valueless.
(v)  Workmen compensation claim was ¥ 80,000,
Pass necessary Journal Entries for dissolution of the firm.
67/2/1 7 P.T.0:



14. 31.3.2011 & 90w g 99 & fau Refas so@ & wfd @@= @«

fopfofiad @
31.3.2011 &1 UUE §U &€ &1 WA T ST @
aH STHT
_ afer afe
wiftaar 3 | g z
I M T 9,700 | 37 (¥ 8 HEH F PIAH) 12.000
= 23,700 | fwmn 5,600
PEM I 12,300 | fastett (37met & & few ¥ 400 wffed) | 4,400
HEl 8,300 | fifenr aar Rl 900
g & faaa 2,900 | TS 41,000
( 900 aE a9 2011 — 12)
et & foma 15,400 | 9% =& 51 (31.10.2010 1) 4,000
(9% g T 16,000)
I 3 A T 4,400
72,300 72,300
IQRE A 97 PIaE @A FH OFErA § o T o @l AR H | 6

Following is the Receipts and Payments Account of Shivalik Club for the
year ended 31.3.2011 :

Receipts and Payments Account for the year ended 31.3.2011

Dr. Cr.
Amount Amount
Receipts 4 Payments 4
To Balance b/d 9,700 | By Salaries 12,000
(paid for 8 months only)
To Subscriptions 23,700 | By Rent 5,600
To Entrance Fees 12,300 | By Electricity (includes 4,400
T 400 for next year)
To Donations 8,300 | By Printing and Stationery 900
To Hall Rent 2,900 | By Books 41,000
(X 900 for the year 2011 -—12) :
To Sale of Investments 15,400 | By 9% Fixed Deposit 4,000
(Book value T 16,000) (on 31.10.2010)
By Balance c¢/d 4,400
72,300 72,300

Prepare Income and Expenditure Account from the above Receipts and
Payments Account.

67/2/1 8



15. UFH. 991 9%, TF B & WERR 4 99 2 : 1 F Y F @ dfed 4 |
31 A 2011 ' 39 fafa fqewr = w&w a1

31.3.2011 & UEH. 91 913, @1 fewta faawor

qfer afer

A 4 et 3
gad Ol % o e 250 | %% 18,250
fafayr SR 59,000 | SR 15,000
g @ =i 32,000
T, : T 27,000 91 & o= 30,000
aE. ;T 18,000 45,000 | -1 @rar . 9,000
1,04,250 1,04,250

1 30 2011 =t fr=afafea w6l W S, & W&l a9 T

F) 9 L e ¥ fA 2 15,000 S IO w9 @ F R 2 6,000 FOTER

4

Fo, g g 9 e, 99 9%, e o |

@) T % f9eg &1 & & o€ & GHET 2, 3HF U T 1,500 F TEEH

T2 |

(ry faseh = $ T 1,300 % uF faw @ owmr @ fEE mn, 3@ fau and
EUH HET B |

(@) wfey ol & AU SRR % 5% % TR WEEE & § |

() fafm oeri # wffaa € 1,200 & @& 98 & AW A8 HCT 8, 3%

ToF ayufefad & 2 |

IRE GEESH b UvE e, @ 0S¥ YR W UEW. 99 9%, & G &
A ffd SER U6 dER g TR F PTEE e F 2

T W], SRR % ISt @ a9 w5 fefy feeer dam S

67/2/1
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I, TH. Y1 el TF FH & GEER 4 a9 5: 3 : 2 F UG ¥ AN Fed § |
20 FEd 2011 H WHER IR, F <@ @ T | 39 fafy & w a fufg e
9 R § a1 :

afer Tf3r
Tgant 3 gefaar 4
Sl e 41,000
R, : % 12,000 AT 6,000
. : ¥ 16,000 wiF 9,000
TH. : ¥ 10,000 38,000 | 37&R 15,000
A [ F= 7,000 | TS 3,000
e g 20,000 | AT9-gI B 10,000
AR 19,000
84,000 84,000
TREd WO ¥ SR, WREER 9 Y W IuW SR Frefafed B R
THEN A :
() O e w oI,
(i) TfEd % yAdeeA 9 QA & I e ¥ gas 9een & eny/a
S 3y S e R
(%) TEAT ® T 45,000 T T H I 7,000 W T g &

il
(@) dfey w=o % AT 10% s 99E9E FE 91 |

(i) ¥ F T YE U & @E=R0 3695 FEeE & 7 @ § e
T fSww g AR § FeT 2

iR @1, SRRl & S @, N % ITUHEH & @ AT WA, qGT TH.
& fegfa faewor dar FfC s@fE =@ e §S @ S AU @ SEwd § e
T HEEE F A WA # g fm 7 o snfiem @ ¢ o# Wkl #
e T W HERE X fear s

67/2/1 10



X and Y were partners sharing profits in the ratio of 2 : 1. Their
Balance Sheet as on 31%° March 2011 was as follows :

Balance Sheet of X and Y as on 31.3.2011

Amount Amount

Liabilities 4 Assets 4
Provision for bad debts 250 | Cash 18,250
Sundry Creditors 59,000 | Debtors 15,000
Capital Accounts : Stock 32,000
T 27,000 Land and Building 30,000
¥ 18,000 45,000 | Profit and Loss Account 9,000
1,04,250 1,04,250

Z was admitted to the partnership with effect from ) April 2011 on
the following terms :

(a)

(b)

(e)

(d)

(e)

He will bring T 15,000 as his capital for one-fourth share and
pay ¥ 6,000 for goodwill, half of which was to be withdrawn by X
and Y.

There is likely to be a claim against the firm for damages, a
provision of ¥ 1,500 was to be made for the same.

A bill for T 1,300 for electric charges has been omitted, now it is
to be provided for.

A provision of 5% on Debtors was to be created for doubtful

debts.

Included in Sundry Creditors was an item of ¥ 1,200 which was
not to be paid and therefore had to be written back.

After making the above adjustments, the capitals accounts of X and Y
were to be adjusted on the basis of Z’s capital. Actual cash was to be
brought in or to be paid off as the case may be.

Prepare Revaluation Account, Capital Accounts of the partners and
the Balance Sheet of the new firm.

67/2/1
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R, M and L. were partners in a firm sharing profits in the ratio of
5:3 : 2 Partner R died on 207 February 2011. The Balance Sheet

of the firm on that date was as follows :

Amount Amount

Liabilities 4 Assets %
Capitals : Machinery 41,000
R : T 12,000 Furniture 6,000
M : T 16,000 Stock 9,000
L: < 10,000 38,000 | Debtors 15,000
Loan from R 7,000 | Cash 3,000
General Reserve 20,000 | Profit and Loss Account 10,000

Creditors 19,000

84,000 84,000

According to the Partnership Deed, on the death of a partner, the
executor of the deceased partner will be entitled to :

(1) Balance in Capital Account;

(ii)  His share in profit/loss on revaluation of assets and reassessment

of liabilities which were as follows :
(a) Machinery is revalued at ¥ 45,000 and furniture at ¥ 7,000.
(b) A provision of 10% was to be created for doubtful debts.

(iii) The net amount payable to R was transferred to his executor loan

account which was to be paid later.

Prepare Revaluation Account, Partners’ Capital Accounts, R’s
Executor’'s A/c and the Balance Sheet of L and M who deécided to
continue the business keeping their capital balances in their new
profit sharing ratio. Any surplus or deficit was to be transferred to
current accounts of the partners.

67/2/1 12




16. T fa. 4 T 10 79% F 30,000 THar 3fvi & T 30 ¥ W F sfwgm w Frita
& & fau smaea =@ few | of &1 saH e SER ¥ R 9@
e W T 10 Wfa i (2 8 ifrgm wfed)
HEed W T 12 ufa 3iw (X 9 sfifqgw wfew)
I TS I area W — 9

27,000 3% & fow ameeT W g¢ | g AeAd "/ o T8 awr wf W #@ R
fgar forar & 3,000 39 A Tew, 599 3w ofy 99 w99 wE g I
ufr & yram T fEr, 9w fReR fSee s 2,000 390 W vgw ud e
A N OgTaE A8 | foar qa e & I @ s W fean | s
faw w39 F ¥ 4,000 39, 5 fRem & @t 3w wfimfaa €, = 2 17 99
3w # qof wew g fifm & feamr mmo

IR SRl & fow T . # g ¥ afEvas Useen wfafeEt i |

HAgar

frem fa. 3 10% & 98 W frifm &\ & fau T 10 &% & 70,000 3fs
& fou smaeT smfEd few | of & oaem fAe R ¥ Fe o

3Maed | T 4 3fg 3w
3@ W T 3 Wfa W
Wq U9 AW g /W — 39

80,000 3% % faw amaed wra gU | 5,000 3¢ & U smwEA & ® W fam

T A WY e F SMfGR SER W SR & sEed H A M | e
WA s U & gEEeE #eed WoF Ut § & fem man | S, SRR
1,500 379 & foau smdeq fear @1, 3 s uf &1 qram @ fear | oaeeT &
T UvER, 39k I H S A TN | 3HE TvE WEW UE A=W A
ufer w0 M 8 | W A emdfed 700 U W oyEw w§ sfww A U owa @

g | 39H ofE @ off W & fomr mn | §ed fRT T 1,500 S @ ¥ 18 uf
v # gof wem @@ fife o2 fear man | g frifie feu g osivll & 990 &
udt oy wiwfag 4 |

ITE Al & fau frew fa. 1 gl § smevas deamen wafsat Fifs ) 8

67/2/1 13 P.T.O.



Gupta Ltd. invited applications for issuing 30,000 Equity Shares of ¥ 10
each at a premium of ¥ 30 per share. The amount was payable as
follows :

On Application ¥ 10 per share (including ¥ 8 premium)
On Allotment ¥ 12 per share (including ¥ 9 premium)
On First and Final call — Balance

Applications for 27,000 shares were received. All the calls were made
and were duly received except on 3,000 shares held by Shiva who
failed to pay the Allotment and First and Final call money and on
2,000 shares of Girdhar who did not pay the First and Final call.
Shares of Shiva and Girdhar were forfeited. Out of the forfeited
shares, 4,000 shares were re-issued, including all the shares of
Girdhar at T 17 per share fully paid up.

Pass necessary Journal Entries in the books of Gupta Ltd. for the
above transactions.
OR

Firdos Ltd. invited applications for issuing 70,000 shares of ¥ 10 each
at a discount of 10%. The amount was payable as follows :

On Application ¥ 4 per share
On Allotment ¥ 3 per share
On First and Final call — Balance

Applications for 80,000 shares were received. Applications for 5,000
shares were rejected and the shares were allotted on pro-rata basis to
the remaining applicants. Excess money received with applications
was utilized towards sums due on allotment. Jonney, who had applied
for 1,500 shares, failed to pay the Allotment money. His shares were
forfeited immediately after allotment. Afterwards the First and Final
call was made. First and Final call was not received on 700 shares
held by Rommy. Her shares were also forfeited. 1,500 forfeited
shares were re-issued at ¥ 13 per share fully paid up. The re-issued
shares included all the shares of Jonney.

Pass the necessary Journal Entries in the books of Firdos Ltd. for the
above transactions.

67/2/1 14



17.

18.

19.

20.

21.

L IR

(fa=ira faaron =1 fayemon)
PART B

(Financial Statements Analysis)
‘Erl’ % fou faxdig faerot & favemor & mew &1 I Fie |
State the significance of analysis of financial statements to the
‘ereditors’.
g yaE foeror F& R ST 8, Seo #fe |

State why a cash flow statement is prepared.

g qEHE F T IR T ?
What is meant by Cash Equivalents ?
Se fa. & 9 eI 35 ;1 99 TWad U 15 : 1% | AR WiE FN

e & o @l =ie] gefal oo g ¥ T 60,000 s &, @ =g
Tl qE7 =] <FAs A M HINT |

7 Ltd. has a current ratio of 3-5 : 1 and quick ratio of 1-5 : 1. If the
excess of current assets over quick assets as represented by stock is
% 60,000, calculate current assets and current liabilities.

frafefad gua @ frefafes ¥ 3 el @ el st Tomn S

(F) FO-GHAT I,

(@) ST Y e ST,

M By W T |

ER

T ¥ Gt T 5,50,000; W EEE T 50,000; AE-EH @RI R a9 &N
TIF % §1E T 1,50,000; 9% B T 2,00,000; IR T 1,00,000; T 741 e
% 6,50,000; 3TER T 1,50,000; 398K T 1,45,000; TFT T 55,000 T4 INE
=g T 50,000.

31.3.2011 ' §urw gC a9 & fa¢ foka T 15,00,000 1 T4 50% & &F TAH
fear T ar |

67/2/1 15 P.T.0.



From the following information, calculate any #wo of the following
ratios :

(a) Debt-Equity Ratio;
(b)  Working Capital Turnover Ratio;
(e) Return on Investment.

Information :

Equity Share Capital T 5,50,000; General Reserve ¥ 50,000; Profit
and Loss Account after Tax and Interest ¥ 1,50,000; 9% Debentures
T 2,00,000; Creditors ¥ 1,00,000; Land and Building T 6,50,000;
Equipments ¥ 1,50,000; Debtors ¥ 1,45,000; Cash T 55,000 and
Preliminary Expenses T 50,000.

Sales for the year ended 31.3.2011 was ¥ 15,00,000 and Tax paid
50%.

22, fr=fafaa g faatr § 31.3.2011 & 99« g¢ a% & fou 7@ fa. &1 & 9=
HHR 1 T faaw TR FET

31.3.2011 & ¥Ww gu o4 & fou sw fo. &1 o faawor

fererzon ufy
-
W
fesha 30,00,000
T A 20,000
ERE 30,20,000
o7 :
39 T AE F AN 20,50,000
EEIGE R E] 40,000 '
T = 20,90,000
& 2,25,000

67/2/1 16



From the following Income Statement, prepare a Common Size Income
Statement of Jagat Ltd. for the year ended 31.3.2011 :

Income Statement of Jagat Ltd. for the year ended 31.3.2011

Particulars Amount
<
Income :
Sales 30,00,000
Other Incomes 20,000
Total Income 30,20,000
Expenses :
Cost of goods sold 20,50,000
Operating Expenses 40,000
Total Expenses 20,90,000
Tax 2,25,000

23. 31.3.2010 91 31.3.2011 & 3R, o, & Frafafes fufy Tl @ I @R
faawor dar Hifsw -

31.3.2010 @e1 31.3.2011 & .3, fo. & Teofa faawon

31.3.2010 | 31.3.2011 31.3.2010 | 31.3.2011
<Fad z g | s 2 2
A S §S | 4,00,000 | 6,00,000 | THFE 50,000 | 45,000
@8I WA | 1,00,000 | 2,00,000 | T 6,00,000 | 6,00,000
& 2,00,000 | 1,00,000 | = —| 75,000
SEdlfaa @M | 80,000 | 60,000 | SRR 2,00,000 | 2.55,000
H Y 40,000 | 70,000 | ©TF 10,000 | 15,000
EECG 60,000 | 45,000 | T% 20,000 | 85,000

8,80,000 | 10,75,000. 8,80,000 | 10,75,000

3R GEAT -

§ # T 75,000 F a9 & FF FA | 999 F faEg W 2 5,000 F oA & |

¥ T T 12,000 1 YA FEl AT

57/2/1
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From the following Balance Sheets of J.R. Ltd. as on 31.3.2010 and
31.3.2011, prepare a Cash Flow Statement :

Balance Sheets of J.R. Ltd. as on 31.3.2010 and 31.3.2011

31.3.2010| 31.3.2011 31.3.2010| 31.3.2011
Liabilities 4 3 Assets T 3
Equity Share Capital 4,00,000 | 6,00,000 | Patents 50,000 45,000
Profit and Loss Account | 1,00,000 | 2,00,000 | Building 6,00,000 | 6,00,000
Bank Loan 2,00,000 | 1,00,000 | Investments — 75,000
Proposed Dividend 80,000 60,000 | Debtors 2,00,000 | 2,565,000
Provision for tax 40,000 70,000 | Stock 10,000 15,000
Creditors 60,000 45,000 | Cash 20,000 85,000

8,80,000 | 10,75,000 8,80,000 | 10,75,000

Additional Information :

During the year Building costing ¥ 75,000 was purchased. Loss on
Sale of Building was ¥ 5,000. Depreciation charged on Building was

T 12,000.

qmT T

(oo @)

PART C
(Computerised Accounting)

17. F7eiga A oF & ueh 341 § ?

What are the components of computerised accounting system ?

18.

frdt @ ® oEfed de & UES § WS 3% EW fhOw Ndrhe g @ 2 1

What is represented by ‘fifth’ to ‘seventh’ digit of the code allotted to

an account ?

19.

‘TS0 H AT 32T 8 7

What is the purpose of ‘normalisation” 7

67/2/1
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20. fFH Frelsa a@ed Sredd F g foRmast & anesy | 3

Explain the security features of a computerised accounting software.

21. gl < 9T 3uoiey S TA.UE. Sedd & A FaR0 | SLAUATdE. & e
T e W o Fuig FfeT | 4

Give the name of two commonly available DBMS softwares. Also
explain three advantages of DBMS.

22, THUG-UFY ¥ AE 99 & AT F & o0 F= & S0on w® farge | 4

Write the steps of a query to compute transport allowance in
MS-Access.

23. (%) froafafes gu @ WM o 3 A F WA FE S AT THE T EHA
MU HIfET | ¥ 1,00,000 F H g6 aF 10% # @ ¥, T 1,00,000 ¥
sifess i T W 20% A W F | (@ FqT W2 H wW)

(@) T & 39 faxig & (Fave) & 99 F6d g0 99emRY S & fatEm &
O qod & YAd H GEger ¢ | 6
(a) From the following information, calculate the formula on Excel
for computing the amount of Dearness Allowance. When basic pay
is up to T 1,00,000, @ 10%; for more than ¥ 1,00,000 @ 20% (Basic
pay is projected in C2).

(b) Name and explain the financial function of Excel which explains
returns of the present value of an investment.
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